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5. (4) Solve the diflerential equation :

d:::.-.+-log:=' (krg-)'.
.IT t .Y-

(h) Solve :

x2 Ytlx - (x3 + Y31 d1' = g .

6. Solve any 
^1,., 

of the lbllowing dill'crential equations :

(rr) (D1 + I ).t. = cos 2r

,1: v
(b) ---i + 4) = xsln.t

rl ,t / r\(c) .r'1]-+2.r:14+2.r =roI x*1 1.aLY (lr- \ .r,i

7. Solve lhc following partial diffcrcltial equitlions :

(u) ( x:1:2 +xtt)p-1:(--:+x.1.)q=yr.

. lii\ (p) +qt1r = q:.

(ll'ritelotrr lloll \o t) tlrc tt4, intnrliok'l| on rc&'iptol thisqtkstionPttPL'r.)

Question No. I is compulsory.

Att!'filpt.lbrrr more questions by selecting /x'o

questions fronr each Section.

l. Attempt any Jive pafts '.

(d) lf

ar

.f {:1=

P.T.O.
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(6)
cx

1 :l:-
dx- Ort

-lr.l
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tl\amine whether lim.l(r) and 111 ./(r) glist.

)

))
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(2 ) 67t2

,r(.r) = 0

6712(3)

(6) Evrluate Sertion I

2 (a) A function lr) is defined as follows :

"t-
a

.(<(]

linr .rl+-r+l-i Vx'+l.l I

,

(b)

(c) Show that :

) )
p1,rr,rr;=i nffi,,...

x>at

., + 0. Show that .(,r') is continuous at -r '- a.

Find the value ol thc rrth tlerivative of the function

lf 0=t" e-''h - finrl the value of n which will make :

.r
(.1) Evrluate thc double intcgral :

drdy

(l-r ,)

ttiI00 l-.r,2)'

(a) Solve

x: r l, = ti- lo|.lx _

dr

fi . Solve the differential equfllion :

(D2 + t) + l).r' = sin 2.r. 
)

(g) 'Form 
a partial dillbrential equation by eliminstion of the

co[stants , and /< from :

('r'+ /,): +(,y-t)r *.'=r'i .

i. (,t)

e

?r

'n0 e0

e,

Ur)

4. (u\ Show lhat :

l'ind thc position and naturc of the doublc points on

the curvc

.r,3 =-P + ax2.

I

" i .or'*' gr1n"' ,r, - F(rr) l-(r)
J . f(rr+r)(h) Solve :

Y2 tt - xYq = x(z -2Y).

P.T.O.


